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Q1) a) C.F 2marks
PI 2 marks
Final answer 2 marks

b)C.F 2 marks
PI 2 marks
Final answer 2 marks

c) First solution 2 marks , second Marks 2 marks
OR

Q2) a) C.F 2 marks
P.I. 2 marks
Final answer 2 marks

b F 2 marks
PI1. 2 marks
Final answer 2 marks

c) First solution 2 marks , second Marks 2 marks

Q3) a) Finding sine transform 2 marks, Representation : 2 marks,
final answer 2 mark
b)  Finding inverse Fourier transform 2 marks, Representation : 2 marks
c) Each step of Laplace transform 1 mark
OR

Q4) a) Finding sine transform 2 marks, Representation : 2 marks,
final answer 2 mark

b)  Finding partial fractions 2 marks, Final answer 2 marks
c) Taking LT of equation 1 mark, Finding f(s) 1 mark, f(t) 2 marks.
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